
EXTRAPRACTICE:Interpreting Solubility Curves Practice #3
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Solubility Curves

Solubility vs, Temperature
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Using Solubility Curves
Block:

3. If 50g of water saturated with potassium chlorate at 23' C is slowly
evaporated to dryness, how many grams of the dry salt will be recovered? ~

@ ~l°C4> IC>~/Ioc~Wz..o .'. ~ e -!o; -to )( ~ s~1Sc)~ H,.c 3. riAMS

4. What is the smallest mass of ~ater required to dissolve completely Z3g of
ammonium chloride at 40'C? 1(6, _ ~ -z;:.

~ 'io·c. -P tH'~/lOC>~ \1~o~ IOO~"1.0- X
5. A saturated solution of sodium nitrate in 100g water at 40'C is heated to

50' C. What is the rate of increase in solubility in grams per degree?
@'io'C ~IO't~(l~~H,.c> i@S'M~:~II'\~/I •• -,H~ ~

6. Which salt has solubility values that are least affect by changes in
temperature? *NQ..CI. ho..5 ••.. ~-e.r sfn,..~, I.q,ve.) \ ; ••e 4> 6. N~C.I
If 30g of potassium chloride is dissolved in 1~Ogwater at 45' C, how may
additional grams of KCIwould be needed to make the solution saturated at
80'C7 @ I..f!,°c-p Yl~ loc.>~H,..c>~ 41-30 :.ll., h ~••.fv-fe.~ IIS·C 7. ~~j I(.() ••..Jd.lfib"' ••..\
At what temperature do potassium chlorate and potassium chloride have
the same solubility in water? @ Ci70C.-C> ILClO~ :: ILc.I

9. AtSO'C, 100g water is saturated with sulfur dioxide, How many grams of
sulfur dioxide must be added to saturate the solution at O'C? 0

@5'll~-4> tt~/too~ \\1-6 . € o-c-e- ;l.3,/toc>~ H,..o -+ ;t~~-l{~ ~ 9. I Ij $0:;1
10. At 50'C, 100g water is ~aturated with potassium nitrate. How many grams

of potassium nitrate will precipitate when the solution is cooled to 4O'C? ., V A'O
@s6·(~8'''/I•••.,~1-0j @I{o·c.-f> '7~ltoo~HL6 ~ 8', -'7~" 10. ..<;l:,\ J-I~ :3
11. How many grams of sodium chloride are required to saturate 500g water at

100'C? @ foo"C. lc\'~: X --P
~ 1.00 1tz9, ~o~~

12. Which compound is l~st so1uble in water at 1Z'C?

e lt~C HIL~ r;a.-Ltf..:..lIl
E>ca6°C.: p.~..,.••.~".jv.,v..k!
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Most substances on this graph show an increase in solubility with an increase in temperature.
What are the exceptions? GClses shoW 0.. dec.r-e.ou ~ iol'l Sol.;""I;±y
~ t-e.M#-~-Ivre.. ir'\.cre.o.s e.5 '

1.

Z. Each curve shows how solubility for that substance changes as T~f~+ure.
changes. Solubilities of substances whose curves show greater slopes are "'\0 ,e.
(~/less) affected by temperature changes than those that have more gradual slopes.

(

4. So.cl ».2.0

t:t~I'l,~/
/IOoC..:.:.5._, _

8. t:t7°C

13. At 80'C, 100g water is saturated with potassium chloride. 'How many grams
of KCLwill precipitate when the solution is cooled to 45' C?

@SO·C..(>~~110(l9~CS; ells-c.-t>'-I(~/I«I~»~o4>S~ -'-I'~-P13. IIj ~I
14. A saturated solution of a compound contains 130g of solute in 100g water.

What is the compound? 1/ .,-/. /!.tJo " t tJ Q 1.1•••• 1
I'-'""" J '" Q. 3 14.~ Itldo? / JJ...ilo '3

15. How many grams of sodium nitrate are required to saturate 200g water at
10'C? 809 X

@ 10 .c.~ 106~ 8;.0" ;l.oes ~ II.z..c -t:>

16. Which saturated solution of a chloride has the greatest percentage by mass
of solute at 60'C? ~ s.I\I~ SO; ~ 5 'I

~ )(160 -t> - X/oo -l> S·,.·/0 "" ••..•."'-S'~ ~ ~ ••••1... LOcl~, .
17. An aqueous solution of potassium nitrate at 50'C is 60 Percent by mass

KNO). Is this solution unsaturated, saturated, or supersaturated?
ue 3 '0~. ' .I@ 56 rc -p - "> -- .• VI\.~•••..fvv-.-te4
100-,~o 1'0 -' If••.0

11.ICJ5jNo...CA

12. ~\O"S

15, IbD, N~N03

16. NUtle(
17, LlI\SD--tv~-kd
(


